
Ecuaciones Lineales (D)

Dibuje una ĺınea a través de ambos puntos, y determine su ecuación.

1. A(-1,8)

B(-4,5)

Ecuación: y =

x

y
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2. A(-5,9)

B(5,3)

Ecuación: y =

x

y
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3. A(-1,-9)

B(4,-4)

Ecuación: y =

x

y
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4. A(-1,6)

B(2,-6)

Ecuación: y =

x

y
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Ecuaciones Lineales (D) Respuestas

Dibuje una ĺınea a través de ambos puntos, y determine su ecuación.

1. A(-1,8)

B(-4,5)

Ecuación: y = x + 9

x

y
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2. A(-5,9)

B(5,3)

Ecuación: y = −3
5
x + 6

x

y
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3. A(-1,-9)

B(4,-4)

Ecuación: y = x− 8

x

y
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4. A(-1,6)

B(2,-6)

Ecuación: y = −4x + 2

x

y
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